
  ניסוח מחדש                                                                                                                    
_________________________________________________________________________ 

 
 ( 4-1)שאלות   לסכסך קשרים   –   1ביס 

1.      Bob Marley once said: "I shot the sheriff, but I didn’t shoot the deputy". 

          (1)  Bob Marley claimed he shot the sheriff once, but missed his deputy.  

          (2)  Bob Marley admitted shooting only the sheriff, not his deputy. 

          (3)  Bob Marley said he shot both the sheriff and his deputy.  

          (4)  Bob Marley admitted he shot not only the sheriff but also his deputy.      

_____________________________________________________________________________________ 

2.      Historians believe that the collapse of the Roman Empire was due to a combination of both  

          internal and external factors. 

          (1)  The downfall of the Roman Empire was due to internal factors as well as external ones,  

                 according to historians.  

          (2)  Historians believe that the Roman Empire came to an end due to internal, rather than  

                 external factors.  

          (3)  The Roman Empire collapsed despite its inner and outer strength, according to historians.  

          (4)  Some historians believe that internal factors caused collapse of the Roman Empire, while  

                 other claim it was external factors.       

_____________________________________________________________________________________ 

3.      Having lots of consonants together such as in the word Szczęście (happiness), and a total of 14  

          cases, make Polish a challenging language to learn.  

          (1) There are 14 cases of consonants combination in Polish, which makes it hard to learn.   

          (2)  If Polish had less consonants and less cases, it would still be a challenging language.  

          (3)  Polish is a hard language to learn, despite its joyful consonants combination and  

                 many cases.   

          (4)  Polish is difficult to learn because of its word structure and multiple cases.      

_____________________________________________________________________________________ 

4.      While many British physicians remain skeptical of the efficacy of Methadone as a treatment for   

          addiction, the remedy is being prescribed by an increasing number of their German   

          counterparts.    

          (1)  While many German doctors prescribe Methadone for addiction, most of their British  

                 colleagues use the drug for other illnesses.  

          (2)  Since a growing number of German doctors use Methadone as a treatment for addiction,  

                 their British counterparts should consider doing the same.  

          (3)  More and more doctors in Germany are treating addiction with Methadone, but many of  

                 their British colleagues still doubt its effectiveness.  

          (4)  The drug Methadone is highly addictive, so British doctors, unlike their German  

                 colleagues, avoid prescribing it to their patients.       

_____________________________________________________________________________________ 


